
Ableitung für 1011011011011 0 1101010101 0 110110111011011 0 1110110101101
00 1011:
TMcodierung ⇒ Delta Trenner Endzustaende ⇒ Uebergang 0Delta Trenner Endzustaende ⇒
Zustand 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 Eins 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 Einsenfolge 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 Einsenfolge 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 Eins 0 Kopfbewegung 0 Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 Kopfbewegung 0 Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0R 0Delta Trenner Endzustaende ⇒ 1 0 1 1 0 1 1 0 1 1 0 1 1 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 Uebergang 0 Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 Zustand 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0Null 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 Einsenfolge 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0Null 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 L 0 Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 Uebergang 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 Zustand 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 Eins 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 Zustand 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 Einsenfolge 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 Einsenfolge 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 Einsenfolge 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 Zeichen 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 Eins 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0Kopfbewegung 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0R 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0Delta Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 Uebergang Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 Zustand 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 Zeichen 0 Zustand 0 Zeichen 0Kopfbewegung Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 Eins 0 Zustand 0 Zeichen 0Kopfbewegung Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 Zustand 0 Zeichen 0Kopfbewegung Trenner Endzustaende ⇒
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1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 Einsenfolge 0 Zeichen 0Kopfbewegung Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 Zeichen 0Kopfbewegung Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 Eins 0Kopfbewegung Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0Kopfbewegung Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 L Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 Trenner Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 Zustand 0 Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 Einsenfolge 0 Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 1 0 Endzustaende ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 1 0 Zustand ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 1 0 Einsenfolge ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 1 0 1 Einsenfolge ⇒
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 1 0 1 1
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Satzform angewandte Regel
TMcodierung TMcodierung → Delta Trenner Endzustaende
Delta Trenner Endzustaende Delta → Uebergang 0 Delta
Uebergang 0 Delta Trenner Endzustaende Uebergang → Zustand 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung
Zustand 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Zustand → Einsenfolge
Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Einsenfolge → 1

1 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Zeichen → Eins
1 0 Eins 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Eins → 1 1

1 0 1 1 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Zustand → Einsenfolge
1 0 1 1 0 Einsenfolge 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Einsenfolge → 1 Einsenfolge
1 0 1 1 0 1 Einsenfolge 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Einsenfolge → 1

1 0 1 1 0 1 1 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Zeichen → Eins
1 0 1 1 0 1 1 0 Eins 0 Kopfbewegung 0 Delta Trenner Endzustaende Eins → 1 1

1 0 1 1 0 1 1 0 1 1 0 Kopfbewegung 0 Delta Trenner Endzustaende Kopfbewegung → R
1 0 1 1 0 1 1 0 1 1 0 R 0 Delta Trenner Endzustaende R → 1 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 Delta Trenner Endzustaende Delta → Uebergang 0 Delta
1 0 1 1 0 1 1 0 1 1 0 1 1 0 Uebergang 0 Delta Trenner Endzustaende Uebergang → Zustand 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung
1 0 1 1 0 1 1 0 1 1 0 1 1 0 Zustand 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Zustand → Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Einsenfolge → 1 Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Einsenfolge → 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Zeichen → Null
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 Null 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Null → 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Zustand → Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 Einsenfolge 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Einsenfolge → 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Zeichen → Null
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 Null 0 Kopfbewegung 0 Delta Trenner Endzustaende Null → 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 Kopfbewegung 0 Delta Trenner Endzustaende Kopfbewegung → L
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 L 0 Delta Trenner Endzustaende L → 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 Delta Trenner Endzustaende Delta → Uebergang 0 Delta
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 Uebergang 0 Delta Trenner Endzustaende Uebergang → Zustand 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 Zustand 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Zustand → Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Einsenfolge → 1 Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Einsenfolge → 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Zeichen → Eins
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 Eins 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Eins → 1 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 Zustand 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Zustand → Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 Einsenfolge 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Einsenfolge → 1 Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 Einsenfolge 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Einsenfolge → 1 Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 Einsenfolge 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Einsenfolge → 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 Zeichen 0 Kopfbewegung 0 Delta Trenner Endzustaende Zeichen → Eins
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 Eins 0 Kopfbewegung 0 Delta Trenner Endzustaende Eins → 1 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 Kopfbewegung 0 Delta Trenner Endzustaende Kopfbewegung → R
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 R 0 Delta Trenner Endzustaende R → 1 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 Delta Trenner Endzustaende Delta → Uebergang
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 Uebergang Trenner Endzustaende Uebergang → Zustand 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 Zustand 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung Trenner Endzustaende Zustand → Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung Trenner Endzustaende Einsenfolge → 1 Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung Trenner Endzustaende Einsenfolge → 1 Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 Einsenfolge 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung Trenner Endzustaende Einsenfolge → 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 Zeichen 0 Zustand 0 Zeichen 0 Kopfbewegung Trenner Endzustaende Zeichen → Eins
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 Eins 0 Zustand 0 Zeichen 0 Kopfbewegung Trenner Endzustaende Eins → 1 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 Zustand 0 Zeichen 0 Kopfbewegung Trenner Endzustaende Zustand → Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 Einsenfolge 0 Zeichen 0 Kopfbewegung Trenner Endzustaende Einsenfolge → 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 Zeichen 0 Kopfbewegung Trenner Endzustaende Zeichen → Eins
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 Eins 0 Kopfbewegung Trenner Endzustaende Eins → 1 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 Kopfbewegung Trenner Endzustaende Kopfbewegung → L
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 L Trenner Endzustaende L → 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 Trenner Endzustaende Trenner → 0 0

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 Endzustaende Endzustaende → Zustand 0 Endzustaende
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 Zustand 0 Endzustaende Zustand → Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 Einsenfolge 0 Endzustaende Einsenfolge → 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 1 0 Endzustaende Endzustaende → Zustand
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 1 0 Zustand Zustand → Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 1 0 Einsenfolge Einsenfolge → 1 Einsenfolge
1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 1 0 1 Einsenfolge Einsenfolge → 1

1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1 0 1 0 1 0 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 0 1 1 0 1 0 0 1 0 1 1
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